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Two Amoiro’im argue about it - SRTIAN N 712 93008

Overview

K7W stated that two 2°X7 MR argue whether the MWW is 1M1 XXM or Jop WIWD.
However 871 did not state in regards to what is their dispute. *"w" and ndo1N offer
different explanations.

= 293999 DYYIT TYIN PIYHT 1oVMPA WIS
>'"w9 explained that they are arguing regarding 2sy97 w7 —

moon disagrees:
= 307 YNVYI DO¥9T YWINT 1IN (7 NIYN 73 PI9) PEPIY NODNIAT DN 13229 9IIN)

And the n''9 states that in 93Py noon the maw rules that 2sp=r "ws is if it has a
hole the size of JuP WS, so how can an X71mX maintain otherwise (that it is 777 X*X12) —

moon offers his explanation:
290999 49N NN 9PN 1207 BN 12929 1IN NIN

Rather says the n''- that they are arguing regarding the rule of °np 7o%x apA.

Summary
The np12nn is either regarding 0°y71 w31 (according to >"wA), or 2°no Tn¥ (‘o).

Thinking it over
According to the n"9, is the 871X who maintains vp WNWI, argue with X217, who
maintains that the W of 2°no 71X is either 12172 or 1117 X°X120?

o399 7" 72,

2 They argue at which point are the plants in this container considered 7217 so even if they come in contact with
liquids they would still not be 7820 277 7w, One maintains that in order to be considered 1211, the hole must be
at least 1117 X°¥I1m3, anything less would make them w12n and they would be ¥ 92p% wan, while the other maintains
that even if it was 2p°1 only Jup W3, it is also considered 121m and will not be 7R 22P% WA,

3 At that point it is considered 127,

4 Their argument is at what point is a 2°n2 T»% not 9°¥»; whether it is 777 XX or Jup WM. Based on the n"1 cited
in the previous 171371 7"7 '01n it would seem that they argue at what point will a 2°no 7% not be 2°¥» even if the
(additional) hole is closed up.
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